Page 1

October 10, 2022

Vice Chair Robinson called the regular meeting of the School Board of District #726 to order on the 10th day of October, 2022 at 6:30 p.m. in the Teaching & Learning Center.

Roll Call.

Members present: Troy Berning, Aaron Jurek, Ryan Obermoller, Connie Robinson, Pete Weismann

Members absent: Mark Swanson

Others present: Jeremy Schmidt, Superintendent & Kevin Januszewski, Director of Business Services

CITIZEN COMMENTS: None

<u>PRESENTATION</u>: Principals Dave Kreft & Chantel Boyer with Assistant Principals Brian Baloun & Ted Aleckson provided behavior data from the 21-22 school year.

REPORTS: Student Representative, Superintendent Schmidt, Director Berning (Facilities Committee Meeting), Director of Curriculum & Instruction, Carla Nolan (Curriculum Committee Meeting)

SUMMARY OF CLOSED SESSION FROM 9/12/22 SCHOOL BOARD MEETING: A school board may close a meeting to evaluate the performance of an individual who is subject to its authority.

Motion by Ryan Obermoller, seconded by Aaron Jurek, to *Approve the Consent Agenda* as presented.

Motion carried unanimously.

CONSENT AGENDA

MINUTES FROM THE AUGUST 23, 2022 SPECIAL BOARD MEETING

MINUTES FROM THE SEPTEMBER 12, 2022 REGULAR BOARD MEETING

FINANCIAL REPORT

EXPENDITURES

	2022-23		2022-23	Remaining	%
Fund	Budget	August 2022	Year-to-Date	Budget	Spent
General	37,190,159	1,033,093	1,691,728	35,498,431	4.55%
Food Service	1,766,912	12,973	38,728	1,728,184	2.19%
Community Service	1,643,530	131,630	179,000	1,464,530	10.89%
Debt Service	3,820,440	-	381,095	3,439,345	9.98%
	\$ 44,421,041	\$ 1,177,696	\$ 2,290,551	\$ 42,130,490	5.16%

$\underline{ exttt{DISBURSEMENTS}}$ — in the amount of \$3,112,515.16

PERSONNEL

Name	Status	Job Title	Location	Hrs Per Day/FTE	Group	Replacing	Effective	Wage
		Special Education						
Bass, Sarah	Resignation	Paraprofessional	PS	6.5 Hours Per Day	MultiUnit	n/a	9/15/2022	n/a
Brozynski,				2 Hours, 20 Min Per				
Shelley	Resignation	Food Service Worker	MS	Day	NonUnion	n/a	9/15/2022	n/a
Engelhaupt,								
Barbie	New (Re-Hire)	Health Assistant	1S	7 Hours Per Day	MultiUnit	B. Engelhaupt	10/10/2022	\$20.30 Per Hour
		Special Education						
Frandsen, Tara	Resignation	Paraprofessional	MS	7.5 Hours Per Day	MultiUnit	n/a	08/15/22	n/a
Hennessey,								
Kristi	Resignation	MTSS Paraprofessional	MS	2 Hours Per Day	MultiUnit	n/a	6/6/2022	n/a
Higdon, Roger	New	AM/PM Bus Driver	Bus Garage	3.5 Hours Per Day	Transportation	n/a	9/22/22	\$38.81 Per Route
Jassmann,		Special Education						
Krista	Resignation	Paraprofessional	PS	6.5 Hours Per Day	MultiUnit	n/a	9/29/22	n/a
Klaphake,								
Melisa	New	Food Service Worker	HS	2.5 Hours Per Day	NonUnion	J. Klatt	09/26/2022	\$15.00 Per Hour
Klatt, Jaime	Resignation	Food Service Worker	HS	2.5 Hours Per day	NonUnion	n/a	9/16/22	n/a
		Special Education						
Klatt, Jaime	New	Paraprofessional	HS	7 Hours Per Day	MultiUnit	n/a	09/19/22	\$18.08
		Special Education						
Klatt, Jaime	Resignation	Paraprofessional	HS	7 Hours Per Day	MultiUnit	n/a	10/07/22	n/a
Knudsen, Eric	New	Custodian	HS	8 Hours Per day	MultiUnit	A. Kittleson	09/26/22	\$17.50 Per Hour

Page 3

October 10, 2022

				1	1			•
		Cussial Education						
20.01		Special Education	700		24 1024 11	a P		
Kottke, Maria	New	Paraprofessional	PS	6.75 Hours Per Day	MultiUnit	S. Bass	9/26/2022	\$17.34 Per Hour
		Special Education						
Kottke, Maria	New	Paraprofessional	HS	7 Hours Per Day	MultiUnit	J. Vanvoorhis	08/29/22	\$17.34 Per Hour
		1 3				v		, , ,
		Special Education						
Kottke, Maria	Resignation	Paraprofessional	HS	7 Hours Per day	MultiUnit	n/a	09/05/22	n/a
Kragerud,		9th Grade Boys Basketball						
	D:	i i	110	el	DEA CALALAC	/-	//	
Randy	Resignation	Coach	HS	Seasonal	BEA - Schedule C	n/a	09/27/22	n/a
		Lead Cook (was Asst. Cook /						
Nelson, Jennifer	New Assignment	Lead Cook)	PS	6.75 Hours Per Day	MultiUnit	n/a	09/06/22	\$19.42 Per Hour
				,				
Olson, Dan	Resignation	Head Speech Coach	HS	Seasonal	BEA - Schedule C	n/a	9/20/22	n/a
D: D		N : 10 B: 1	110		DEA CLILO	,	, ,	A CC P C
Pingrey, Penny	New	Musical Co-Director	HS	Seasonal	BEA - Schedule C	n/a	9/15/2022	\$1,667 Per Season
Prom, Daniel	New	Freeplay Supervisor	PS	3.5 Hours Per Day	MultiUnit	S. Anderson	9/26/2022	\$17.34 Per Hour
		. , .		,			-	· - ·
Radunz, Nick	New	Weighroom Supervisor	HS	Seasonal	BEA - Schedule C	D. Bjornstad	8/17/22	\$2,500 Per Season
		Lead Cook (was Asst. Cook /						
Rowley, Angie	New Assignment	Lead Cook)	HS	6.75 Hours Per Day	MultiUnit	/a	9/6/22	\$20.90 Per Hour
Kowiey, Arigie	New Assignment	Leau Cook)	гю	6:/5 Hours Fer Day	Mullianii	n/a	9/6/22	\$20.90 Fer Flour
Schaapveld,		Special Education						
Susan	New	Paraprofessional	PS	6.75 Hours Per Day	MultiUnit	n/a	09/26/22	\$17.34 Per Hour
		Art Teacher - Long-Term				A.	9/26/22 -	BA Lane / Step 13:
Schulz, Jackie	New	Substitute	MS	1 FTE	BEA	Lewandowski	12/22/22	\$337.28 Per Day
		9th Grade Girls Basketball						
Stevens, Alyssa	Resignation	Coach	HS	Seasonal	BEA - Schedule C	n/a	05/18/22	n/a
otevens, Alyssa	resignation	Coach	Iω	ocasonal	DEAT - SCHEMME C	rı, a	03/10/22	rı, a
Vee, Melissa	New	Health Assistant	MS	7 Hours Per Day	MultiUnit	J. Johnson	10/10/22	\$25.61 Per Hour
Wilke, Doug	Resignation	Custodian	HS	8 Hours Per Day	MultiUnit	n/a	9/20/22	n/a

Independent School District #726

Becker, Minnesota

Regular School Board Meeting

Page 4

October 10, 2022

	Additional		Сатр	2.5 Hours Per Day,	Сатр			
Zahler, Stacy	Assignment	Camp Opportunity Lead	Opportunity	Mon/Fri	Opportunity	n/a	10/03/22	\$16.03 Per Hour

EARLY CHILDHOOD LICENSED STAFF HOURS - FY23

Role:	SR Tchr	SW Tchr	ECFE Tchr	ECS	SR/SW Conf	Conf Report	Home Visit	Lesson Plan	PLC Mtgs	W.S. Set Up	Moms Dads	Total Annual
Budget Code:	582	582	580	583	582	582	580	582	582	580/582	580	Hours
Cinda Louden	649	-	9	33	36	18		6	18	34	1	803
Beth Soenneker	551	-	-	33	18	9		6	18	28		663
Melissa Dumonceaux	1091	-	-	33	36	18	-	6	18	36	30	1268
Kim Barth	1091	-	-	44	44	22	-	6	18	41	1	1266
Alysha Hartkopf	762	-	38	-	50	25	-	6	18	41	-	940
Nichole Stenberg	221	-	99	-	18	9	-	-	18	28	-	393
Trista Robak	-	1084	38	-	40	20	-	18	18	47	-	1265
Melissa Johnson	-	-	113	-	-	-		-	4	15	-	132
Melisa Tenvoorde	-	-	62	-	-	-	-	4	4	16	-	86
Cynthia Graham		-	150	-	-	-		4	4	18		176

Becker Early Childhood Para Hours 2022-2023

Tammy Bergsten SR para 477.75 hours (147 days x 3.25)

Workshop Week Hours 9

Jill Cook SW para 477.75 hours (147 days x 3.25)

SW prep para 58 (29 days x 2)

Admin Assist 624 (8 hrs ECFE + 8 hrs SR/wk x 39 wks)

ECFE/SR summer hours 70 Plus MARSS assistant DO budget

Laura Garding SR para 477.75 hours (147 days x 3.25)

ECS 135 hours (annual estimate)

ECFE para prep (approximately 30 hours)

Workshop Week Hours 9

Plus ECSE hours from PS budget (4.25 hours/day x 150=637.5)

Kelsey Berthiaume ECFE para 585 hours (15 hours/week x 39) *Holiday

ECFE summer hours 45

Plus ECSE hours from PS budget [4.75 hours/day x 137=650.75]*

Traci Gustafson SR Literacy Interventionist 1007.5 hours (155 days x 6.5)

Workshop Week Hours 7

Alysha Hartkopf ECFE para prep/events 58 (estimated 2 hours per week/29 weeks)

ECS para 44 (5.5 hours x 8 days)

Kristin imholte SR para 949 (146 days x 6.5)

ECS para 44 (5.5 hours x 8 days)

ECFE Event hours 20 Workshop Week Hours 9

Rebecca Lardy ECFE prep para 96 (estimated 3 hours/32 weeks)

SW para 81.25 (3.25 x 25 days) Summer ECFE Prep/Updates 8 hours

Workshop Week Hours 9

Plus ECSE am hours from PS budget (3.5 hours/day x 91= 318.5) ECSE pm hours from PS budget (4.75 hours/day x 137=650.75) *

Brenda Lundorff SR para 949 (146 days x 6.5)

Workshop Week Hours 9

Shari Villeneuve SR para 468 hours (144 days x 3.25)

Workshop Week Hours 9

Plus ECSE hours PS budget (3.75hours/day x 147=551.25)

Misty Trombley ECSE hours from PS budget (3.50hours/day x 88=308)

SR para 468 hours (144 days x 3.25)

Workshop Week Hours 9

Melissa Aeshliman SW para 191.75 (59 classes x 3.25)

Workshop Week Hours 9

Paid Holidays are not reflected in the above hours unless * is noted.

Motion by Troy Berning, seconded by Aaron Jurek to *Table the Communication Plan* until the next regular school board meeting. Motion carried unanimously.

Motion by Ryan Obermoller, seconded by Troy Berning, to Accept the Following Gifts.

В	ecker Band Booster Club Inc.	\$3,258	HS Band
В	ecker Robotics Booster Club	\$959.62	Robotics
В	ecker Robotics Booster Club	\$9,485	Robotics

\sim	, I			202
()	rtov	rev	10	202

Becker Screen Print	\$100	Dance
Beckers Lions Club	\$900	Middle School
Bogart, Pederson & Associates	\$750	Dance
Country Lumber	\$250	Dance
Dylan's Hope	\$15,000	Mental Health Support
	7.5,000	
H.O.P.E Stables LLC	\$100	Dance
Healing Heartbeats Thru Hoofbeats LLC	\$100	Dance
Hubbard Electric	\$250	Dance
Northern Metal	\$525	Dance
Sherburne State Bank	\$100	Dance
TJ Potter Trucking	\$250	Dance

Motion carried unanimously.

Motion by Aaron Jurek, seconded by Troy Berning, to Approve the Following Policy Recommendations.

- 416 Drug & Alcohol Testing
- 418 Drug Free Workplace / Drug Free Schools
- 515 Protection and Privacy of Pupil Records

Motion carried unanimously.

Motion by Ryan Obermoller, seconded by Pete Weismann, to *Approve a Transfer of \$10,000 to Early Childhood Screening from the General Fund* (retroactive to June 30). Motion carried unanimously.

Motion by Aaron Jurek, seconded by Troy Berning, to *Approve Intermediate School Additions and Renovations Recommendation*, as presented. Motion carried unanimously.

Ryan Obermoller, Clerk

Recorder: Angela Oswald